
Oracle Warehouse Management: Your Guide
to Successful WMS Implementation

Warehousing and logistics play a core role in today's supply chain. As businesses expand, the
need for effective Warehouse Management Solutions becomes more critical. In this article, we
will explore several essential aspects of Oracle Warehouse Management, its implementation,
and how to achieve successful certification in this area.

Understanding Oracle Warehouse Management
Oracle Warehouse Management (WMS) provides organizations with tools to manage
warehouse operations efficiently. It streamlines processes like inventory management, order
fulfillment, and shipping. By using Oracle WMS, businesses can improve accuracy, reduce costs,
and enhance service levels. For more insights, consider checking this link: Oracle WMS Exam
Details.

Why WMS Implementation Matters
WMS Implementation is crucial for businesses looking to optimize their warehouse processes.
Effective implementation can lead to better inventory visibility, quicker turnaround times, and
improved customer satisfaction. It's essential to have a clear strategy for how to adopt these
systems.

Steps to Successful WMS Implementation
1. Assess Current Processes: Start by reviewing your current warehouse operations.

Identify bottlenecks and areas for improvement.
2. Define Goals: Clearly outline what you want to achieve with the WMS. This might include

reducing errors, increasing efficiency, or lowering operational costs.
3. Choose the Right System: Not all WMS solutions are created equal. Evaluate different

options based on your specific needs.
4. Develop a Plan: Create a detailed implementation plan. This includes timelines, resources

required, and a roadmap for training employees.
5. Train Your Team: Make sure all staff members are trained adequately on the new

processes and system. A knowledgeable team can make a significant difference.
6. Test the System: Before going live, run tests with the new WMS to ensure it works as

expected and addresses your operations' needs.
7. Go Live: Once you are confident in the system, it’s time to take it live. Monitor the

implementation closely and be ready to make adjustments as needed.

Oracle Cloud Certification
If you want to specialize in the use of Oracle solutions, pursuing an Oracle Cloud Certification
can be beneficial. This certification demonstrates your expertise in using Oracle systems, making
you a valuable asset to your organization. For exam preparation, visit this link: Certification Exam.

To obtain this certification, you will likely need to pass an exam. Preparation is key, so consider

https://www.certkillers.net/Exam/1Z0-1045-24
https://www.certkillers.net/Exam/1Z0-1045-24


studying materials, taking practice exams, and engaging with community forums to enhance your
knowledge.

Leveraging Oracle Logistics Cloud
Oracle Logistics Cloud works hand in hand with the WMS. It provides additional tools for
managing transportation and logistics. Businesses can track shipments, manage supplier
relationships, and optimize routes. Integrating these systems leads to a cohesive logistics
strategy.

Role in Supply Chain Management
Incorporating Oracle Warehouse Management into your supply chain is vital. An efficient
warehouse influences the overall performance of the supply chain. By ensuring that goods move
smoothly from manufacture to customer, businesses can streamline their operations and remain
competitive.

Tips for Continuous Improvement
Analyze Data: Use analytics to assess performance. Look for trends and areas for
improvement.
Stay Updated: Technology is constantly changing. Keep informed about new features and
updates to Oracle's offerings.
Feedback Loop: Encourage feedback from employees. They can provide insights on how
the WMS can better serve their daily operations.
Adapt Strategies: Be prepared to adapt your strategies based on feedback and data
analysis. Flexibility is key to ongoing success.

Concluding Thoughts
Choosing the right Warehouse Management Solutions and effectively implementing them can
transform your business operations. By committing to Oracle Warehouse Management and
pursuing Oracle Cloud Certification, organizations can greatly enhance their logistics capabilities.
Transitioning to these systems is not just about technology; it is about creating an agile supply
chain that meets the demands of today's marketplace.
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QUESTION: 1

The following configuration is set for the Advance Shipment Notification type: 10% Under Receipt
Warning,10% Over Receipt Warning, and 20% Over Receipt error.Which two statements match the condition
set if the ASN Qty is 100? (Choose two.)

Option A : When the Operator receives 125 units, the RF screen displays an Over Receipt warning
message.

Option B : When the Operator receives 101, the RF screen displays an Over receipt warning message.

Option C : When the Operator receives 110, the RF screen displays an Over Receipt warning message.

Option D : When the Operator receives 89, the RF screen displays an Under Receipt warning message.

Option E : When the Operator receives 130 units, the RF screen displays an Over Receipt error message.

Correct Answer: A,C

QUESTION: 2

Your customer wants to have the Purchase order created in their legacy ERP system and download it
toOracle WMS Cloud.Identify four mandatory field values that must be present in the Purchase order to be
successfully downloadedto the WMS Cloud system. (Choose four.)

Option A : Ship Date

Option B : IB Shipment

Option C : License Plate Number

Option D : Vendor code

Option E : item

Option F : Item Quantity

Option G : Purchase Order Number

Correct Answer: A,D

QUESTION: 3

Your customer wants to receive an IB shipment and capture pallet weight at the time of receiving.Which
parameter must be set in the Receiving RF screen to meet this requirement?



Option A : Set Capture-catch-weight as “Prompt for catch wt”.

Option B : Set Mode as Blind-ASN Receiving.

Option C : Set rch-sku-not-on-shmnt to “Promt for catch wt”.

Option D : Set Single-Sku-management as Assume Single SKU.

Option E : Set Blind-License Plate Number-receive-mode as by SKU scan.

Correct Answer: B

QUESTION: 4

What happens behind the flag Only deallocate on Short in the order type screen?

Option A : The Order Type has no impact on the Picking Process.

Option B : When the parameter is set to YES, during short pick, the system will put the order hold status
until more inventory is available.

Option C : When the parameter is set to Yes, then only the shorted quantity will get deallocated form the
order.

Option D : When the parameter is set to No, the shorted quantity on the order remains in the “allocated”
status.

Option E : When the parameter is set to Yes, the short pick will cancel the shorted order line automatically
and inventory adjustment will be generated for the item.

Correct Answer: A

QUESTION: 5

Identify two correct statements about ASN creation. (Choose two.)

Option A : The ASN number can be system generated or manually entered.

Option B : Oracle WMS Cloud allows creation of a single/multiple ASN from a PO.

Option C : Oracle WMS Cloud only allows creation of a single ASN from a PO.

Option D : The ASN number is always auto-generated from a sequence number.



Correct Answer: A,B

QUESTION: 6

The above diagram shows a typical Third Party Logistics (3PL) structure.Identify the Facility, Company, and
User levels, as applicable, in sequential order (that is, the proper label forbox 1 is listed 1st in sequence).

Option A : 1=Facility 1, 2=Company 1, 3=Company 2, 4=Super User 1, 5=Facility 2, 6=Facility 3,
7=Facility 4

Option B : 1=Parent 3PL, 2=Facility 1,3=Facility 2, 4=Company 1, 5=Company 2, 6=Company 3,
7=Company 1

Option C : 1=Company 1, 2=Parent 3PL, 3=Company 2, 4=Facility 1, 5=Facility 2, 6=Facility 3, 7=Facility
4

Option D : 1=Super User, 2=Parent 3PL, 3=Company 1, 4=Facility 1, 5-Facility 2, 6=Facility 3, 7=Facility
4

Correct Answer: C

QUESTION: 7

A user is using the PackNC transaction to pack into a blind OBLPN. The user needs to pick up 10 units forItem
000234, but after picking up four units the OBLPN is full.What should the user do?

Option A : move to the next location

Option B : end the LPN



Option C : short the remaining units

Option D : scan the next order

Correct Answer: B


